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GENERAL STUDIES (1 to 140) / S 3RTT (1 | 140 )

1.  Match list-I with list-II and select the correct
answer using the code given below the lists -
List-T List-IT
(Folk Song)  (Occasion of Singing)
(A) Chaiti (1) Sanskar geet
(B) Kajari  (2) Braj Lokgeet
(C) Rasia (3) Vivah and Seasonal
geet
(D) Sohar  (4) Seasonal geet
Code -
: A B C D
@ 4 3 2= 1
) 3 4 1 2
© 1 2 3. 4
a 2 1 4 3

2. Which of the following relation is not

correct?
(@) 1 Byte=38Bits
(b) 1 Kilobyte = 1024 Bytes
(¢) 1 Gigabyte = 1024 Kilobytes
(d) 1 Terabyte = 1024 Gigabytes

3. Which of the following is not correctly
matched?

(State) (Hot Springs)
(a) Himanchal -  Manikaran
Pradesh _
(b) Odisha - Taptapani
-(¢) Maharashtra -  Vajreshwari
(d) Gujarat - Narayani
4. Which of the following is not corectly
matched?
(a) Companies Act—2013
(b) Indian Contract Act— 1870
~ (¢) Partnership Act — 1932
‘(d) Sale of Goods Act — 1930 )

5. What was the total percentage of Central
revenue spent on Military force in British
India?

(@) 40%
(b) 45% , d
(c) 50% ;if 7.
55% |-I‘5 1.1
@ ? 1220 A
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-1 B @11 ¥ g AR T A |

fa’?,“qﬂzaa?rmaﬂa‘;ﬂé’rw_aﬂw

i —
REi= S il
(GICR)) (AT BT _IAWR)
A) TR (1) R T
B) @S (2) T BT AN
©) Ry (3) faw vd dGE D
D) R (@) wHrerht Ao
®- -
A B C D
@) 4 3. 2 1
(b) 3 4 1 2-
(© 1 2 e 4
(d 2 1 4 3

ﬁw%ﬁgﬁﬁaﬁﬁwﬁﬁu_mﬁ%?

(@) 1 9ige =3 faey | ‘
(b) 1 fdheliaTse = 1024 W3T™

(© 17TETEe = 1024 freligzed

@ 13ETEeE = 1024 rmamca
Preifeifae % & B et e gt 87

() (T =)
(@ fRama wewr - #Aftt
®) SifRem - e
(© ¥ERE - qoEdd
(d) TSR - AR

4. Praff 3 & @ @ g g 87

(@) T AfRfFEH — 2013

(b) WRdra wfaer sfaf aw — 1870

() rsrery fRfgH — 1932

@) ax fama sfef=aq — 1930

fafesr yRa & V= 90 W By Ao BT
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6. In the Kakori Conspiracy Case, the main 6. ®IPRI USIAT DH H, U Ry

accused Pt. Ram Prasad Bismil was hanged in yare_fAfFd # ST udw @ few e 'ﬁ
which city of Uttar Pradesh? B 21 TS oY
(a) Varanasi (@) aRORA
(b) Gorakhpur (b) TRER
(¢) . Kanpur PTG
(d) Lucknow ((:l)) TS
;.  EastUttar Pradesh first Cable CarServicehas 7. G SR WS¥ @ wseh daw BR T
. started in which of the following district? r=fafaa 9 3 fvg S99 3 TR @?
(a) Etawah . (@ zemEr '
"+ (b)  Maharajgan] (b) FERST
(c) Jaunpur . 3
@ Mizapur | @
g, Tulsi plant has medicinal values due to the 8. Terfl & O 37 St wee Ry @
. jpresence of the following - _‘ SURSIRY B PR T —
(a) Inorganic Acid @) - 3
) Organic Acid b) B
(©) Phenols and Flavonoids i A
(d) Lithium Bicarbonate | Efa)) %fﬁ'qnq;s‘cﬁﬁﬁz
9. Which one of the following words cannot 9.  fr=iifea wmat ¥ ¥ =W wr T TR
" written from ‘TEACHERS’ word? ! “TE ACHERS T D ﬂ‘t?r - e
(@) REACTL () REACH _
(b) CHE il | “(b) CHEER
(c) ' SEAR () SEARCH
) CI_{‘AI: followmg S dered | @C R
Which of the is considered a  10; '*TWH R: | fhp:rﬁ;r@a Bray
10. “Hotspot’ * of biodiversity in India? Tl <dter ki i}? NS Sg—fafaer
(@) Aravalli Hills (a) w“ T ST )
Western Ghats _ _ (b) TRy TEIfsal
(c) Eastern Ghats © Tﬁ Hre
T (d) Indo-Gangetic Plains - =3 HiC
| R:F'é]“_—“T"IT o
Consider the following events and arrange 11,  frafafRag '
: 3. them is chronological order : TR "R_[aﬂﬁ HifTg 3R ¥
1.  Establishment of ‘Gadar Party’ by I PATTER =rafRera Hifvm : .
. Lala Hardayal. : AT gl?wa ERT TR Ul %
II. Establishment of ‘Servants of India Sl .
- Society’ by Gopal Krishna Gokhale. 1. Tm MEel gR1 Ha<d W‘f
III. Publication of Hicky’s ‘Bengal sfear DI RATIAT |
 Gazette’. - L R & qurer Tore’ @1 g |
IV. Establishment of ‘Bengal Asiatic IV. W fferm Siea g ‘ame TR,
Society’ by Sir William Jones, _ TS Y AT |
Select the correct answer using the code given = Ry o TE BT AT TP Fel SN L2l
below : 5 : T e
Code -
(@ ILLIandIV - . (a) I, [, M iR IV-
"(¢) IV, Iand I © IV‘ HI‘ Ly it
(d IILIV,IandII - (d) HI‘IV’Iaﬁ“\’II
! 3 ] /
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12.

Where in India, the first rubber based tyre 12.
Metro is being built?

'*m'aft UEAT ¥R SRR ARG AgT el 9140
ST 8T 87

(a) Ahmednagar (@) aEvHETR
(b) Surat ® W
(¢) Vadodara (© Terex
@ Nasi @ i
13. The chief source of }-lydronen Su]phlde 13. TIES|IoH TIPS UguP Pl g Fﬁ’lﬁ % =
pollutant is - @ w=g 8¢ Tty vd q'?l tiﬂ'lﬁf
(a) Decaying vegetanon and animal (b) 3iteY HEEH
matter ¥ R 5
- (b) Automobiles - Ed)) x s 0
(¢) Oil Refineries : 9 =
_ (d) Thermal Power Plants :
14. Consider the following events and arrange these 14, f=ifeiRaq geamai (@rsrSi) W farER PIfTe
in chronological order — : s
(D Launching of Community X! rafRerT Hifom — .
- _Development Programme (CDP) ) W e HRimA o o
(I1) Recommendation of Democratic ' (¥ $rdy) an—
iy o (D - oy Rt @ dfr S e
- (II) Initiation of Key Village Scheme
(KVS) Imn = faos  wm w ged
(IV) Setting up of Distdct Rural (B -drgw) :
Development Agency (DRDA) at IV) fem  amn e afERo
st d‘*‘“ct‘ level . T A (STIRIANT) B Rrer wR ox wRIu=T
elect correct answer from the code given
belarie ?ﬂ%‘tf&'&ﬁﬁaﬁﬁmﬁwwwaﬁﬁm—
(@ (). (D), (D), (IV) @ (@, D, mn, av)
() * (D, (I, (), (IV) (b) (D, (D), (1D, (V).
() ), (D), dn, (Iv) (c) (D), (I, (1), (IV)
(d) (@V), ), (1), D) (@ av), am, (I, (1) - . ‘

"15.  Which of the following state in India has 15. "9Ra 9= Refy Raré 2019” £ aqa,-aw
maximum number of tribal districts as per ‘ f?p:rf%{ﬁ:qa ¥ ¥ fra I § T et
“India State of Forest Report 20197 DI G g9y fYye 27

(a) Nagaland (a) FATRIvE
(b) Meghalaya (b) HET™
(¢) Mizoram (© frorm
(d) Manipur @ t!ﬁ'Tﬂ'\' ; o _
16. Which of the following is not mentioned in 16, WRd @® ‘B SUE, AOUR T APy o
the ‘Farmers Produce, Trade and Commerce 20200 9 9 A= #H ﬁ}fﬁzﬁr Soold :@f frar
Bill 2020’ of India? T &7
(a) Essential Comm(]dities ~ (a) IMIITD Wq"
" (b) Contract Farming. b) e ?fﬁ
(¢) Minimum Support Price . © =g aHe W
(d) ‘Agriculture - Produce  Market ' 2 : et
Committees - @ Efﬁ
: HO:. 632, Ground Floor, Main Road; Dr. MuRneree Nagar, Delhr - TT0009
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! 17,- As per census 2011 of India, which one of the 17. HRW @I SA-FOMFT 2011 & IR, IR wawn
following city of Uttar Pradesh is not a % fr=faRaa o=:i 4 @ ®5F | == fﬁﬁm‘f
‘Million City'? IEY T8 87
(a)* Agra (@) AR
(b) Prayagaraj (b) TR
(c). Meerut © o
i (d) - Moradabad: @) TR
) 18. In the Preamble of the Indian Constitution, 18. WRMNT MM & wamEr 4 s@a @i
which Justice is provided to all its citizens? ’ Wrﬁﬂ'ﬁ B B AT AT USTH B Pl G
(a) Social, Religions and Political @ T B? .
(b) Social, Economic and Cultural _(3) ATHITS, S1H® 9 Ireifad
- (¢), Social, Political and Cultural tb)) S s ’ q HI Z,Iil ;
(d) Social, Economic and Political (@) G R T ToTRE
19. With reference to crop rotation, which of the 19. THa o @ H==d , F=faRaa ¥ ¥ o=
_ following statement is/are correct? | I B FE B/ E?
(1) . Deep rooted crops should - be (D) T el gl BHel 95 9!
followed by the same type of crop. URE W HE SUEY ARy
(2) Legumemust be followed by a non- (2) HACR FHA B 91€ A7 Bt areh)
legume. HHS o ARy
Select the correct answer using the code given R He @I
below - ?ﬁqfﬁq o ST BYD HE SR
Code - e —
.. (a) . Only 1 ‘t“a) » 1
(b) Only?2
. (b) a2
(¢) Both1and?2 )
- (d) Neither 1 nor 2 (€)  13R 23M
' . @ STar1=rd2
'20. Which of the following Indian President also = 20. - fF=foRaa ¥ &% o9 ¥ v wg:crr%r A
 served as Speaker of Lok Sabha? [T ey )Y T 7 )
(a) Fakhruddin Ali'Ahqu 5 (a) q,—@-.{,—a:[ 3T IEHT
(b) Dr. Shankar Dayal Sharma ()  <f. sieR e et
(¢) Dr. Zakir Husain (¢ =i wifex g
.(d) Neelam Sanjiva Reddy B @ “rew Hollg Y-S
' 21. Niger crops is a oil seed crop. What is the 21. ' IR RMfid) & $HA T I B HoA 2 |
- content of oil in its seeds? TGP 9§ o7 A 7T Rha g ol 27
_(a) 7 -16%- S (@) 7-16%
(b) 17-26% (b) 17-26%
© 27-36% (© 27-36%
(d) 37 -47% (d) 37-47%:
[ 01 B] HO 632, Ground Ffoor, Vain Road, Dr. MUKheree Nagar Delhi - 110009
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22.  Which of the following Union Territory of
India has the lowest sex ratio as per census
20117

(a) Chandigarh
(b) Daman and Diu
(¢) Andaman and Nicobar Islands

(d) Lakshadweep

23. With reference to the cultural heritage of
Uttar Pradesh, which of the following
statement/s is/are correct?

(1)  The oldest evidence of agriculture in
the global context has been obtained
from many excavated sites in this
region.

(2) The oldest cultivated food grains are
barley and paddy.

Select the correct answer using the code given
below —
Code -

(a) Onlyl

(b) Only2

(c) Bothland2

(d) Neither 1 nor2
24. The Six Points Formula proposal of India for

South Asian Region was presented by which

Prime Minister of India?
(@) Manmohan Singh
(b) Atal Bihari Vajpayee
(c) Narendra Modi
(d) Inder Kumar Gujral

25. How many Squares and Triangles are there in
the following figure? ' '

(a) 2 Squares and 16 Triangles
(b) 2 Squares and 14 Triangles
(¢) 3 Squares and 16 Triangles
(d) 3 Squaresand 18 '{ﬁaﬁgles

L. oo =l

22.

25.

2011 B SO @ SER, ﬁw%ﬁaﬁfti-‘f
NG B W B wRE R S

T ST 87
@ Idve

®) T wE G |

©. senr-freEr v g

d) ey

TR WY Y faraa @& w@ed #,
ﬁﬁfﬁfﬁamﬁ%?ﬂ?W/ﬂﬂiﬁﬂﬁ

(1) T URY B 31 Seafid gRRerel 9
_aﬁamﬂaﬁﬁqafﬁra‘mﬁmﬂﬁm
TSI §U £ |

@ Hﬁﬂﬂmm@ﬁmvﬁaﬁ?m

_Waﬁﬁm—

a’-;‘a'__.._

(a) B 1

(b) @ge 2 _

(© 1 3R 2 S

d Fariar2
‘«:fémqﬁzrrs,‘aﬁzﬁf:@qwm‘rw iﬁ
mw%ﬁmwmné’rmm@a 5T

‘IgT or?

(a) #HEA b8

(b) 3o fasrT arorady

() == =Y

@) ¥ AR PRI -
frfaRaa enpfa d fasae Enf‘?fen fare=
i%rﬂvr*a’?

(@ 297 T 16 By
() 2@ .14 Begor
() 3o aT16 BT
(d) 3a7faa1181=~:13m '

U, Vog, UIUUIIU LA A

[RRST-01-B]
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. 30,

26.

27.

. 28.

29.

With reference to Indian Civil Services
which of the- following statement/s lslarc;
correct?

1. Government of India Act, 1919
provided for a separate examination for
the Indian Civil Service, which was to

~ be held in India. '

2. In the Indian Civil Service in 1941, the
percentage of Indians was more as
compared to the Europeans.

Select the correct answer using the code given
below: .

Code -
(a) Onlyl
(b) Only2
(c) Both1and?2
(d) Neither 1 nor 2

The ‘Tamaria’ Tribes are found in which of
the following state of India?

(a) West Bengal
(b) Rajasthan
(¢) Jharkhand

(d) ° Madhya Pradesh

As per the SDG India Index and Dashboard
2020-21 published by the NITI Aayog of
India, which one of the following state was
not among the top ten states in their

performance regarding Sustainable
Development Goals?

(a) Punjab -

(b) Sikkim

(¢) Uttarakhand

(d) Goa

In which of the following countries 99
percent of its total energy requirement is
obtained by Hydro-Power?

(a) New Zealand
(b) Switzerland
(¢) Norway

(d) Brazil

. Which of the following countries is the

[RRST-01-B]

largest producer of fish in the world?

(a) Japan
(b) China
(¢). Russia
(d) USA

26.

27.

29.

30.

A Bl a1 & et § frefofaa
oAl H F BIFA/ N AT qE B/ F

1. YRd SXGR AWEaE, 1919 F AT
e a1 & Y v sremr qfiem @
wraerE f&ar Tan, S ARa § S o

2. #rdara Rafds dar #F 1941 #, RS @1
iz RuaRar ¥ e o)

A AT ¢ H BT YANT B GE SR BT

=TT BIOTY *

e — -
(@) DaA 1
(b) Had 2
(© 1 3R 2Er
@ Fdar1Ardr2

THRAT SN ARA & FrEfeRad fhw s
3 grlY oY 87

(a) afR=H T€wa
- (b) ORI
© IIRES
' (d) ™ R -

AR A M ERT v gt
ST S99 U9 SUEIE 202021 B AW,

[ HF W U "ad Qe
w A < <t

(@) dYag

®) Tafers
(©) TIRES
(d) Mar

fFrafealRea 3 & fow <o § s9a) 5o ol
SMALADAT BT 99 WA FAIed & Wt 2

e°

(@)  guildis

(b) Racsrels

(c) i

(@) i
Frafafaa § @ fReg § god @1 999 97
SUTEH oI DI GT 27

(a) <mUE

(b) =ArF:nt ol

(© . =¥ o7 a1

(d) JuHu

_—HO—632-Grotnd-HeerMair-Reas-D-Mukherjee Nagar Delhi - 110000
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31.  The largest source of National Income in* 31. ¥RT &Y Ify {’ﬂm F1 HH TS A
India is - L
(a) Service Sector (@) a1 a3y
(b) Agriculture Sector (b) 75& &
(¢) Industrial Sector (©) 3ienfve &
(d) Trade Sector d) =R &y
32. ‘Geographical Indication Tag’ for black 32. &t el & forg Rrfred s %’T
pottery is associated with which of the SR Wy § f=fofeaa § 9 ﬁh‘ﬂ Rl A
following place in Uttar Pradesh? Hafer 27
(a) Najibabad (@) TfamETe
(b) Khura ®) ?g’GI:[
(©) Nizamabad
(d) Kasganj Efi)) ﬁﬁTma'rq’
33." Dhoopgarh Peak is situated in which of the 33, gwrg fFr=fofen s saEt
f(()ll)t)\wng National Parks? ﬁr\qﬁ 1;22 a7 i I
a)  Satpura National Park W-W :
- (b) Kanha National Park ((:)) e T WT
(c) Bandhavgarh National Park © e TSR Sy
(d) Madhav National Park @ FEE S S
34. Insecret code message; ‘HOTEL' iscodedas 34. U® TS HIS W2 §, ‘HOTEL’ &Y 300 &
300, What will be the code for ‘BORE’ in the ©Y ¥ e fbar o 2, a9l e H ‘BORE’
same code? B e T BT
ho @@ 60 (@) 60
';. () 160 (b) 160
| | (© 140 (€) 140
{ d 40 ' (d) 40 g
A 35.  Which of the following state of Indiareported ~ 35.  S=9FT 2011 & IIER, WRd H ffaRed
| lowest percent of urban population, as per RIS e e B e B B e e L G
';\, 2011 census? BT wfered got far?
(a) Himachal Pradesh (a) FRwmEs udw
A (b) Bihar (b) feER '
1 (c) Odisha () anfEem
| (d) Rajasthan d) oY i w
| » W 1|EF#Q|
{! . Consider the following Governors of Reserve 36, Roid d& 3ifw gfan
(i % Bank of India and arrange them. in fEr oY wd 9% Frer-pAger ke
l} chronological order- : - T
]"ﬂ' Bﬁ ) Dr. C. Rangarajan E?I) E :Tg S ues
ll & §11) Dr. 1. G. Patel (III)' g‘f & W
“ Q/X {V (I1)  Dr. D. Subbarao av) <. wEE Rie
{l ) )b (IV)  Dr. Manmohan Singh A Ry T B BT TGN TS GE TR BT
| N Select correct answer using the code given by s S8 R
(! X
| & below- aﬁ — . .
E -Code - @ (IV), (1), (D 3R (1)
I o LS @ av).an, @and (@) - (b) (D, AV), (1) 3iR (1)
| & . & O andueinE © V), ), 4D 3 am
| TS o avmem @ (D, ®, av) 3 () -
.l HO:. 632, Graund Eloor-Main-Read-DrMukheriee Nagar-bDelhi—i10069 -
|l # 2765801@,%@4@733@2/63
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37. Which of the countries is signatory to the 37.
Abraham Accord?

(@)
(b)

Israel, Saudi Arabia, Egypt' Jordan
Israel, United Arab Emirates, Egypt
Bahrain, Libya
(¢) Israel, United Arab Emirates,
Bahrain
. (@) Israel, Sudan, Afghanistan, Pakistan
38, Match ListT with List-Il and select the 38.

correct answer using the code given below —

fefafed 4 @ dF-—oF ¥ T EEd
HAT (Abraham Accord) & S&IERGAT &7
(a) ISR, 9394 34, g, St
(b) IONIZE, WY NG IR, A
() TIRISd, Aga IR MR, FE
(d) TSRS, FSM, BT
qifdr=
-1 BT A | gAfera Bty @I =
Ry 1Y ®He &1 uhGrT TR AE SR BT a9
Ay —

ST SE-I
List-1 List-TI
(Seil) (State) (Fre) : (=)
. A) Tdle :
(A) Alluvial (1) Rajasthan (A) : (1) SR
(B) Black (2) Uttar Pradesh (B) el (2) W U™
(C). Red  (3) Maharashtra (C) < 3) TERTE
(D) Desert  (4) AndraPradesh (D) woRIAA  (4) AW WSy
Code - HE -
A B C D A B C D
@ 1. 4 g 2 @ 1 4 3 2
) 2. 3 4 ®) 2 3 " .
(c) 4 2+ 1 3 () 4 2> 1 3
@ 3 4 2 1 @ 3 4 5 ;
39. Which of the following statement is not - 39. fr=foRad 3§ ¥ 99 91 9902 99 HEI 87
: correct? (@) 3 Foi— IOESITE Vel BT WP
(a) Email - refers to Electronic mail TR
(b) WWW -refers to World Wide Web (b) Eﬂss@ise@%— qQ\e, qls\g 33[ .‘ﬁ
; i [T wwar
- refi Control Processin
(c) CP.U refers to Control Pr g © Tﬁfffq\ &
Unit : ﬂs;"[a[ Fi‘l@iiﬁil 11!313
(d) ALU - refers to Arithmetic Logic @ T — Eliiﬂﬁ s N
Uit ' whfT s ¥ g
40. Cyclone “Tauktae” was formed in which 40. JI= =Hardl gHE “drba ﬁm WR W
. ocean? SEE B onr?
(a) Bay of Bengal @) I P G
g B W
Gy b E““ Sea ©
rabian Sea & o "
HOQ: 632, Ground Floor. Main Road., Dr. Mukherjee Nagar, Delh| 110009
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41. Which of the following is not correctly ' 41.

matched?

(@)
(b)
(c)

@

Primary Energy — Tidal Power
Commercial Energy —
.Non-Commercial Energy — Animal
Dung
Non-Conventional Energy — Solar
Energy

Oil and Gas

42. Traditional Folk-drama “Bhand-Pather“ is

related to which State/Union Territories?

(@)
(b)
(©
(d)

Jammu and Kashmir
Gujarat
Uttar Pradesh

Assam

43. Choose the odd one out from the following-

(@ IJR6
(b) RV3
(¢) EKS5
(d) DG2
44. Which of the following is correct sequence of
ecosystem in - order of decreasing
productivity? :
(@) Ocean, Lakes, Grasslands and
Mangroves
(b) Mangroves, Oceans, Grasslands and
Lakes
(¢) Mangroves, Grasslands, Lakes and
QOceans
(d) Oceans, Mangroves, Lakes and
Grasslands
45. Under which article of the

Constitution, the Parliament can make laws
on State List subject for giving effect to
international agreements?

(a)
(b)
(9
(d)

Article — 252
Article — 249
Article — 250

Article-253 g

Indiaﬂ_ 45,

Frerferen 3 % i <@ fer T 27

(@) Wi St — s R
(b) IRTE Hul — a ik o9

© R—affas Hut — FHaRt &1 M

@) R-IRIRS Fuif — R Gl

[T /B MR- wew § Fafeg 87
(@) TFL-HER

(b) TR

(6 S W

@) 3w -
frfafea % & = &1 gf-
(a) JR6 '

() RV3 R

(c) EK5

d DG2

qikad A Hel 87

(a) WK, shaama?rﬁm-vfm“rqﬁu‘m g

|

44. '-mmfbmﬁaﬁrﬁtﬁﬁﬁzﬁﬁw

(b) HUE, GPR, UM &1 He SR s
(¢) #uE, ure 1 A5M, 9 SR R
(d) «rR, ¥E, e &R g™ @ Aem

oY g & v WR BT 94 qohl 87
(a) eg@T — 252 :
(b). ITWT — 249
(© IgDT — 250
(d) IgWT — 253

[RRST-01-B]
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With refefencc to the temple of Bhitargaon, 46.

L S e T e e e i S

46. FHAY, SR e Rer Hiavfa #few & wed
Kanpur, Uttar Pradesh, which of the ¥ fr=faiad dUET § 9 9 91/F Fa9 -
=
following statement/s is/are correct? %-i/—;* s SHF o R
(1) This temple was constructed during A T T )
| 5' century A.D. to 6 century A.D. -
; 2) sef ¥ fAffa a8 yrag & urd=aH
(2) It is one of the oldest brick temples @ - " !
' AR TP 2l
of India. ; o=
' : ; ; 1 T U FHE BT UGN FRG Hel I Bl
Select the correct answer using the code given o _—
below — iy
Code - o
(a) Only ] gg B ;
(b) Only?2 1a;a3ﬁ'\ra o
(¢) Bothland2 - (c) i qf’;l ,
(d) Neither 1 nor 2 @ = % .
47. Who among the following visitors to India 47. ﬁﬂi?‘ll@@;‘l ok =rE‘.T 2;”?'*:IR('I : qrar arE
R g 7
did not belong to Portuguese country: E(Eai )' 'E'_&: -
(a) Duarte Barbosa b S
(b) Domingo Paes e -
(¢) Peter Mundy E‘;)) tb——ﬁd I< Zﬁﬁugi
(d) Fernao Nuniz o 3 L
48. 'Who led the ‘Banaras Rebellion” against the 48 STl ;Tr?? forg TrE RA=E &1 Aga e
Britishers? ' T 2T "
(a) Shujauddaullah (a) PSR
(b) Asaf-ud-Daulah (b) IATHHSRI '
() Raja Chet Singh . (¢ o =a fHE - '
(d) Raja Maheep Narayan Singh (@) eI qﬁrcr m i '
© 49.  Which of the following pairs is not correctly  49. fFrfaRaa g gfera € 22
. matched? - () - @"\'T)
(Crops) (CO_“I“IY) S (a) &S - S | ETS I
(a) Rubber - Thzulan('i (b) AT - S
(b) Coffee - Mar'lgoha © G‘l?f-[ g e
(e) Olive -  Spain
Brazil @ = - ES
i : &Y BT T HOT ST &
50. Water pollution of river is measured by - 50. BRI =
"~ (a) Amount of Chlorine dissolved in (a) STal ® gell FaAlfRa @ |3 q
water 3
(b) Amount Of Ozone dissolved in (b) I H gl A B A A
water :
(¢) Amount of Nitrogen dissolved in () T ¥ g?—?r HEE‘IGFI B AET
- water
(d) Amount of Oxygen dissolved in - (d) o A gl TR B w737 )
water
[RRST-OI-B] HO:. 632, Ground Floor, Iﬁgg&g&% I;r;?ré'%gzl\/lggar, ‘Delhi - 110009



51. Mitali Express runs between which two 51.
cities?
(a) Dhaka - Guwahati
(b) Dhaka - Chattgaon
(¢) Dhaka - Kolkata
(d) Dhaka - New Jalpaiguri
52. A Pan-India Campaign ‘Ek Pahal’ launched 52.
on September 17, 2021 was related to -
(a) Justice delivery at doorstep
(b) Vaccination
(c) Swachh Bharat, Swasth Bharat
(d) Use of Green Energy

53. How two.identical bulbs should be connected 53.

to get maximum light?
(1) Both are connected in series
(2) Both are connected in parallel
Select the correct answer using the code given
below - :
Code -
(a) Incase (1) more
(b) In case (2) more
(c) Same in both (1) and (2)
(d) Nothing can be said

matched?

Early Medieval
Cities of Uttar -

Present Status

Pradesh
(a) Koil = Aligarh
(b) Mahotsav . = Mahoba
Nagar
(c) Mahoday Shree - Kannauj
(d) Jaijakbhukti - Kaushambi

55. In which of the following states, the aiea - 55.

‘under Tube-well irrigation is the highest?

54. Which of the following is not correctly 54.

-k

ﬁmﬁmﬁaﬁmﬁmﬁﬁﬁaﬂaﬁav
(a) TrHT —

(b) T - WA

(©) TIHT — PrAdEl

@) T — N TS

17 famr, 2021 ﬁgﬁmwm
R AT T gger o a7 —

(a) = IJTD gR A : 47
(b) TFERT Y

() Oo5 URd, Wl YRd A

@ zHNRaswatd T
a’rwﬁ@rmaﬁﬁa—ﬂwvﬁ@ﬁmm
A fAerfi? -

(1) =1 9of w9 § oS &

(2) < AR P A G B
.y T He B v B GE SR B
I B —

e — |

@ 1)F s

(b))% R

© (1)K (2) A F T .
(d) FT el TE o1 Fhar

ﬁm%%aﬁﬁﬁaaa@mv@f%?
mw gqefarE srafafy
ﬁw%m |

(@) de/PEd  — AN |

(b) 7ET TR - — "Edr

(c) #wErEy s — e '

() o qfa — BT

e 12t 3 & B cE-dat Riard @ &= A
wared 27

- (a) Uttar Pradesh (a) TR URW
' - () Bihar b (b) fIEr
i. ' (c) Punjab R - (¢) Y9
1| (d) Haryana ~ 1 r=fior @ R
i [RRST-{)I_B] HO:. 632, Ground Floor, Main Road? BidVitighgifcg Rlagar, Delhi - 1‘10009

# 2765801

, 71042772062/63 .



 56.

57.

58.

3 590

. 60.

‘DAVINCI+" and ‘VERITAS’ — two new 56.

mission announced by NASA, are related to -
(a) Moon
(b) Venus
(c) Mars

i (d) Jupiter
The main objective of “Sangam Yojana”is-  57.

(a) To increase welfare of handicapped
person :
(b) ' To link rivers mutually
(¢) To make rivers pollution free
(d) To enhance national iritegrity
Which among the following states was 58.

awarded as the best training state for “Van
Dhan Yojana” by the Government of India in

- August 2021?

(a) Nagaland
(b) Mizoram
(¢) Meghalaya
(d) Madhya Pradesh
Match list-I with list-II and select the correct  59.

answer using the code given below :

List-1 List-11
Five Year Applied Growth Model
- Plan _
A. First 1. S. Chakravarty Model
. B. Second 2. Harrod-Domar Model
~ C. Third 3. Ashok Rudra Model
D. Fourth 4. - Mahalanobis Model
Code : :
ROty TSR A A
(a) 1 3 2 4
D 2 4 1 z 9
© 3 1 2 4
a 2 1 4 3

Which of the following Sultan appointed a  60.

special army to protect the boundaries of the
empire? - '

(a) = Iltutmish

(b) Nasiruddin Mahmud

(c). . Balban '

(d) Alauddin Khilji

‘DAVINCI+ 3R ‘VERITAS’ — <141 gm‘
uiftg |1 9y fwE, ddfta € —

(a) g ‘

() TP

(c) #HTe _

(d) gewfa |
HTH zn\—rmr'_ 1 g e ' =

- (a) fapat 1 Hearor giE BT

(b) =TT BT IR AT

(c) =T BT uguYr Fad HRAT

(d) T THAr BT derdr oAl

for=ifoiRaa 3§ ¥ fea I9g &1 e 2021 A

g uf¥Emr IS @ ey | aea el

TR

(a) TS

(b) . -

(¢) ¥HE™A

(d) =T U

-1 B A1 & | fes s, e

fay ¢ @ ¥ | I IR TIT BT —
5 2l -1

e o ok 1 | O 2 55 B .. 5 M ST

A. UIH 1. TH. Ihadl drsd
B. fad 2. BIS—MR Hfsd
C. gdm 3. WP wg Aisd
~D. =g 4. FETEANG HiSd
ok

' A B .C D L

@ 1 3 2 4

®m 2 4 1 3

© 3 1 2 4

@ 2 1 4 3

ﬁrﬂi%i%ﬁ%ﬁmwﬁwﬁ

ARl @ gRem ¥ UH fAv FAr @ g

f&?
(a) Sogataw
(b) -IRTHEA AR
(c) oA

d) oraseE Raesh

[RRST-01-B]
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61. Which of the following is not a part of 61. f=foRag § § &5 @ Afe=Rrar éﬁq 8
Polynesia group of Islands? ' BT 91T F&] 87
(a) Tonga (@) <mm
(b) Tuvalu (b) qaTe]
(€)  Tahit © wfeht
(d) Tinian _ @  Sfem . . <,
62. Which of the following eatables is the best = 62. ™=foiRag @y gept & ¥ 9 w1 Wiy
source of all the essential amino acids? AMaTIE VAT 3l @1 FarH 'FJﬁ‘chr 27
(a) Banana ' : (@ e
(b) Pulses (b) T
() Egg () 3ier
(d) Fish (d) wHoR
63. Given below are two statements, one labelled  63. 1™ 31 P Ry v & v & Gﬁ?ﬁm (A)
as Assertion (A) and the other as Reason 3R @"(’ BT BRI (R) @1 TTan 2
R):
Assertion (A): Dadabhai Naoroji - MDA (A):  WRAT FH W e L
: organised the East India - forg greTrE SRS A 1866
Association in 1866 in A deq A = 3fer
| ‘ London to discuss on TR F1 e faan)
- Indian questions. BRI (R): Tt fafewr wswaFm @y
Reason (R): He wanted to influence ; eI YA =Ed o |
- the  British  Public M RY .MU G 4 98 SR & 999
Opinion. HifT - T
Choose the cormrect answer from the code /
given below : A ¥ R
@ (A) s true but (R) is false . E;'))) E A; ﬁa %ﬁ%( ([){)g g
(b) (A) is false but (R) is true © (A) 3R (R) S Wa ¥ 3k ®R), (A)
(c) Both (A) and (R) are true and (R) is . 7w 3 C
the correct explanation of (A) iR ! E’Fﬁ” # aik
(d) Both (A) and (R) are true but (R) is @) (A) 3R (R) TFT 37 ®), (A)
. not the correct explanation of (A) @ W AT e &
64. How many letters of the English alphabet 64. 3fUSHt aofaren & fra aeR (Pdiee) va gy
(Capitals) appear same when looked at in a H U A BT D FHH fewrE gSa?
mirror? ' ’
@ 9 @ 9
(b) 10 (b) 10
(0 11 () 11
| @d 12 @@ 12
| 65. Which one of the followmg is different from 65. ﬁ'ﬁfﬁiﬁ‘s’lﬁ ?:IH\E-' ¥ g 9y ?'ﬂ?F '\ET = 27
f the rest of the three?
|| (a) Direction (& ﬁm
|I I | (b) Compass (b) U™
.'| II:i ,' (¢) Needle TR (c) '\332;
. .5 _: (d) Magnet BTZy T (d) dIs
rll| I| .
! [RRST-01-B]
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66. Which of the following is not comectly 66. fr=ifeiRaa & & BIFAT FARKT &I 27
matched? : (am
(Language) (Country) LU )
(a) Danish Denmark (@) . SF STAT
(b) Dutch Netherland (b) =4 . SEASE
(¢) Mandarin China (©) HaIR kLl
\(d) ~Bahasa Thailand (d) <ETEr RIFC S
67. Which of the following statement is not 67. fr=feifad ‘3{ DITET BT FEl el 27
correct?
(a) Human ear becomes most sensitive (a) ¥ BT B 1000 &&5 TR FEF@T
(b) ~ Human eye becomes most sensitive (b) A= @] ar@ GIGEUR:D ﬁ‘vTQ gy
: .;or rf:(:: colour. L T RS '\3"1‘1@ B 21
c) q;:(s;:]sdem:e o earing is © NN 1/10 T3 =T %I
(d) Persistence of vision is 1/16 second, (d El kil E' 116 _ E-"ﬁ’f gl
68.  Find out the missing number in the following 68,  Fr=faRad ampfa # g HEAT T BIOg—
figure - .
5 6 12 5 6 12
2 3 9 2 3 ?
18 | 27 | 9 18 YQ27 [ P6
(@) 4 @ 4
(b) 5 b D
(¢ 3 ) 3 .
@ 6 . @) 6
69. Which of the follow:ng Iron and Steel Plantis  69. fr=folRaa & & &= w1 Eﬁa—swm [HIF <X
not located on a river side? dc W ﬁwj_ﬁ__g_? _
- (a) * Bhilai. (@) s
(b) - Bokaro (b) QBER
~ (¢©) Jamshedpur (c) STHERIGYR
- (d)  Bhadravati (d)  WETaR
~ 70. Which of the following is related to Brent  70. frfafag 4 9 & e E@?FH | Haftra ’g?
Index? _ ;
(@ Crude oil prices (a) &= 1 Y B '
(b) Copper future prices (b)) T @B A B B
(¢) Gold future prices () . OF & "fasy & HEd
: GY) Shipping rate Index. @ f=ftr = JaABID
| 71.  Thesilk produced by sp1dcrs is called - 71. HHISAT ERT SN YH BEAT & —
(a) Tussar 5111_(. ' I(a) e Y '
; Eb)) Sdossame_liksﬂk (b) - TR W
c unga silk -
(d Ahimsa silk © e
(d) rfEar m

[RRST-01-B]
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72. In which of the following year almost the 72.
entire area of present Uttar Pradesh was
separated from Bengal Presidency and placed
under Agra Presidency?

(a) 1832 AD.
(b) 1833 AD.
(c) 1834 AD.
(d) 1835 AD.

73. What was the name of the poet, who wrote the ~ 73.
popular poem “Firangiya™ in Bhojpuri against
‘British Colonialism'?
(a) Manoranjan
(b) Ranjan Prasad
(¢) Trloki Singh
(d) Rajendra Pandey
74. Match List-1 with List-II and select the 74.
correct answer using the code given below —

List-T List-I1
(Fruit) (Largest Producer
(A) Mango (1) Jammu and
Kashmir
(B) Litchi (2) Kerala
(C) Coconut (3) Bihar
(D) Apple (4) Uuar Pradesh
Code -
A B C D
(@) 4 3 1 2
(b) 1 2 3 __4
© 4 3 2 1
d 1 2 4 3 )

75. Consider the following events and arrange  75.

these in chronological order — _
I.  Assassination of Curzon Wyllie
II.  Execution of Khudiram Bose
III. Starting of ‘Kesari’ newspaper by Bal
Gangadhar Tilak '
IV. Starting of ‘Al Hilal’ newspaper by
Abul Kalam Azad
Select the correct answer using the code given
below : '
(a) LI IandIV

(b) 1II I IIland IV
(¢) LHOIIVandl
(d) O, TV, and]I

fFrr=fafeg § 9 fFg ad adw@ ST uewr &
I HQef & S RIS W ST Bea
IR YIS & sefiA o= far 1ar?

(@) 1832¢%.
(b) 1833% !
(¢©) 1834%.
(d) 1835%.

fafew Sufdear’ @ fog Ag ¥ ey
wfgar e mﬁ"m@{mﬁmww
77

(a) TARSH
(b) TH WHIE ,
(c) o Rig
(d) %m% S
HA-1 1 ¥ Ao AIig. g
fou Ty B A FE IR BT AT BIY —
w1 g
() . (e 931 SIEH)
(A) aTH (1) <= AR IR
(B) i (2) A :
©) =iRma (3) fER
D) V& (4) ST U<
g
A B C D
(a) 4 3 1 2
(b) 1 2 3 4
(c) 4 3 2 ! -
@ 1 2 4 3 *
fr=fafag gearil R fdar IR ik 5=
FTAFAGAR AARAT BT —
I i aigell @ &l
I  QERM 99 B Ggas
[I. arerhmER s gRT ‘S8 IHEr
gF P URHA

V. ﬂaﬁmmm'm_%ma‘
mem

Y 2T 7Y BE BT TITT IS ALl IR BT
7 BT

(@) I 1L ISRV

() IL T USRIV .

(¢ LML IV3RIT

(@ I, IV, 13RI

HO:. 632, Ground Floor, Main Road, Dr. Mukherjee Nagar. Delhi - 110009
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76.

' Indonesia does not share its land boundary 76. geFRm@l Fr=faRead § § fFa <o & @
% with which one of the following countries? ey <rem & FRar 87
\ (a) Brunei (a) ﬁ_
(b) Timor-Leste (b) femR—or
(¢) Malaysia © wRmT.
(d) Papua New Guinea d) urgen =g frEh
77. Ind;n Urban Observatory is situated at which 77. HRa &<l quenan (sifeqdes) ﬁﬂﬁf@ﬁ #H
one of the following place? ¥ frg e ox Rera 82
(a) |\ Dehradun m
" (b) New Delhi Eab)) ¢ o
(¢) Chandigarh (© TS
(d) Vﬂ;‘anasi (@ TR
78. The practice of gootee in plants is used for the 78, 9l 3 T T BT G ﬁﬁ‘-‘f Stzg oY gfd
purpose of - &q frar o 22
(a) Control of insects (a) @i B Fra=w sg
(b) For vegclalive propagation (b) mﬂiw @ fog
(¢) Germination of seeds Efl)) [ a:; A %@ ot
(d) Weed control
79. Which of the following is not one of the 79. Pr=ifeiad # & &M favraq TERI B Y
twelve ‘HRIDAY” cities chosen for holistic famra @ fog g9 Y aRE TS’ (HRIDAY)
development of heritage cities? el ¥ W 81 B2
(a) Agra (@) ST
(b) Gaya (b) I
(¢) Puri (©) T
(d) Warangal _ (d) T _
80. - The second most important source after fossil  80. Saed SU9 & 9§ HRAdy @ Sl
fuels contributing to Indian energy need is - CgraemdaRl ol g & o T wew
(a) Hydropower energy ' HE Ul &I © —
(b) Wind energy (a)  STAfIgd Sl
Es)) IS~Iu1clear energy (b) dRY S~
olar-enerey (©) URHETY Suils
' _ (d) ER Sul
81. “Kashi Lalima” is the variety of which of the 81. "t enferr fFr=faRaa ¥ & fry waat &)
following crops? gt 87 :
(a) Carrot (a) TSR
(b) - Okra/Lady finger (b) =
(c) Onion (¢) W
(d) Tomato - (d) THRR
82. In India, businesses with an investment upto  82. ¥WRd H R el &1 fafyanr 1 R g
%1 Crore and turnover upto IS5 Crore are | qAT FREAR 5HE TP 2 S GTFIT ST
known as - & '
(a) Tiny Enterprise
(b) Small Enterprise g)) grg 3_2_: '
(¢) Micro Enterprise © Eu SeH
(d)  Medium Enterprise @) HeH Sed
[RRST-Ul-B] HO:. 632, Ground Floor, Mgg{&?m%raj\&:g;?é%%;/ggar Delhr - 110009
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Which of the following king/kings was/were

FrefRe 3 & fora/ Rl ToiT/<ISTRiT Y

83. 83.
elected/chosen directly by the public? AT ERT Uede] ®Y 9 gl IR Mg
(1) Harshavardhan (1) wdaeq
(i) Gopal (2) T
(3) Yashovarman g
(4) Nandivarman Pallavamalla 8; AP Tosigred ;
Select the correct answer using the code given 1 fw T Bl T
below — ' ¢ e L
%RFI ﬁhrq -
Code -
(a) Only (1), (2) and (4) a) dad
(b) Only (2), (3) and (4) Eb)) dad Eg 8; 3?; (5,4))
(¢c) Only (2) and (4) (©) @aa 2) 3R (4)
“(d) Only (2)and (3) @ @ Q) 3R 3)
84.  Which of the following Island is known as 84, fr=ifiRaa # 2 fr 210 @ a2 LIl (G
“The Land of Promise™? ®Y § ST T 87
(@) Cuba (a) agar
Eb)) Java (b) Smar
c) Sulawesi C '\Eﬁrﬁqﬁ
(d) Mindanao - ; Ed)) ISR
85. The percentage of work force in fotal 85. W WS @ T S ¥ e g6 B
population of Uttar Pradesh - ' wEgmd - . 7t
(@ 185% (@) 18.5%
(b) 23.7% ) 23.7%
© 302% () 302%
d) 31.2% (d 31.2%
86. thcl}, one is odd among the following _86. frfarfan witr # ¥ P UE e %?
group?
(a) Tokyo (a) <A
(b) London (b) <G
(¢) New York (c) I
- (d) Beijing (d) T
87. How many 3's are there in the following 87.' f=feiRad agwd ¥ W9 fhem 3 &1 s
sequence? Which are neither preceded by 6 31 ugd T @ 6 g ok T 'gf ?ﬁ"ﬁ qg H 9
nor immediately followed by 9? 14
 9,3,6,6,3,9,5,9,3,7.8,9,1,6,3,9, 6,3,9 9,3.6,6,3,9,5,9,3,7,8,9,1,6,3,9, 6,3,9
(a) Four (3) R
(b) Three (b) i
(c) Two (¢©) T
(d) One (d TvF
88. Which of the following was declared as his 88. f=ifafaa & & P9 Toama # 37T
successor by Guru Nanak? FRIEGR =ifta ﬁ}—,m ofT?
(a) Bala (a)  drelm
(b) Lehna (b) &
(c) Mardana (¢) WREHT
HO:. 632, Ground Floor, Main E%%gﬁsr rh’/fu%ﬁerjee Nagar, Delhi - 110009
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89, Match list-I with list-II and select the correct  89. -1 &1 A1 A Fafera HIRW q=n 4R

\ answer using the code given below - AU 7T¢ He BT YA FRS FE TR BT TG
\ List-1 List-I1 Y = '
(Minerals) (Industries in (%) | mg‘#é,—% e
LR which largely Y= R [UANT
-+ used) 2 frar S )
(A) Limestone (1) Cement . (A) TEAT URR (1) e
(B) Copper (2) Electrical (B) IuR (dfan) . (2) fasten Gal
_ goods HTHH
.(C) Bauxite  (3) Aeroplane (C) draage (3) ®aATS STETS Bl
Manufacturing ' : fomtor
(D) Manganese  (4) Steel (D) @ W@
Code - - e -
A B C D A B C D
@ 1 ) 2 3 4 (@ 1 2 3 4
b)) 2 3 1 4 (b) 2 3 1 4
() 4 3 2 1 () 4 3 2 .1
@ 3 . 4 1 2 @ 3 4 1 .2
90. ‘In the following number series, a wrong 90. - fFr=feRec w&aT 9 #, T et weam 41 Ty
_number is given- ) : g—
2, 6, 16, 38, 84, 168, 368, 750 ‘ 2, 6, 16, 38, 84, 168, 368, 750
The wrong number is- TG HET ® —
(a) 38 ) R _ (a) 38
(b) 84 '  (b) 84
(c) 168 N - (e) 168
© (@) 750 : (@) 750
91.  Which of the following state started E-ration ~ 91, fr=ifeiRaa xr=ail # 9 f&a 3—NH @18 9ar
Card Service in first time? [ R fH?
(a) Gujarat _ (a) ToRTd
(b) Maharashtra (b) WERE
() - Uttar Pradesh ~ - (©) TR WY
(d) Delhi . (@) feh <
92. In which of the following historical 92. TR WY & fy=faRaa fra Wefhas ¥ d
' melas/fairs of Uttar Pradesh both Hindu and fRg R THaw <M1 amy 22
Muslims come? ' ‘
(@) Nauchandi Mela ) (a) 1 T e
(b) Bavaro Baba Mela Y. - (b) 9TRY 91T BT Helr
(© Fuldol Mela : (©)  TerSIet P e
(d) BateshwarMela - - (d) ¥R BT HeT
[RRST-UI-B] HO:. 632, Ground Floor, Main Atage d9afkB&jee Nagar, Delhi - 110009
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Match list-1 with list-II and select the correct

HO 632, Ground Floor, Main Road, Dr. Mukherjee Nagar, Delhl

93. 93. '\‘Itﬁ—l Eal q:d’r—n 3 gAfera ﬁﬁﬁq Rl qf%m’r
answer using the code given below — A fay TR R AT FRD '\qﬁt oo
e a?r T PIfTY — :
List-I List-TT -1 -1
(War) ‘ (Years) @=) ' (ad)
A. Second Anglo- 1. 1803-05 A.D. A. fgda sfra-RR g€ 1. 1803-05%.
" Mysore War B. fafrg erire—pidRl 2. 1780-84 %
B. Second Anglo- 2." 1780-84 A.D.
French War I ; )
C. fedm siiro—mmer 1878-80 €.
C. Second Anglo- 3. 1878-80 AD. Ig ; ; ’ :
Maratha War ol ari
D. Second Anglo- 4. 1750-54 AD. 2 & AL T
Afghan War R
Code : e _ :
CA B C D _ A _ B C D
@ .2 4 1 3 @ 2 4 1 3
® 3 2 4 3 (b) ~3, 2. 4 .I
@©. 1 37 2. 4 © 1 \3§ 2. 4
@ 4 2 3. @ 4 2 3
94. The last Subedar of* Bengal, who was ~94. ¥7a grqene grT fgaa T B 3ifem R CEAR
appointed by Mughal Emperor - ‘ a7 —
(a) - Murshid Quli Khan (@ IR Fe @
(b) Sarfaraz Khan (b) 'ﬂ?"ﬂ'ﬁ‘{o @t
(¢) Shuja-ud-Din Muhammad Khan IO JERTE o
(d) Alivardi Khan E:':l)) arATadT @ =
95.  Which one of the following districts of Uttar  95. FreifoiRad & & SeR W &7 SET Sioge
Pradesh does not share border with Nepal? I B ol Bk M | e B S e e | -
(a) Balarampur (a)' FeRMYR
(b) Shravasti (b)) sTEEN
(¢) Kushinagar () HITR
(d) Lakhimpur Kheri @) AR S
96. Which of the following pair is not correctly  96. . FrfoRaa # & @19 &1 g1 w8 gafera 7
matched? 4
(Country) (Capital) (&) . (RroErrh)
(a) Antigua and- -  Saint John’s (a) Qﬁ'ﬁ&ﬂ - . ¥e W
Barbuda
(b) Dominica - Santo Domingo (b) @fq['—;-ﬁm - e _fm
(c) ElSalvador - -San Salvador () ¥ WISk - U9 HEER
(d) Ba‘namas = Nassau . (d) 8™ " AT
97. How is liver affected on fasting for more than  97. 79 e 9 s ﬁﬁ d® IUary ‘ch_\'ﬁ W
, 10 days? ferax o= wHTg TS &7
(@) Glucose level in liver diminished (@) forax # @ WX 9 8 W &
(b) Glucose level in liver increases ®) foR § @ ®R 9 8w @
(c¢) Inliver triglycerides decrease () fomR ¥ grEfaavgsy gev o @
(d) Inliver triglycerides increase d) foR 9 gEfawesy ger UG
[RRST-01-B] Page 20 of 32
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98.

99.

Which of the following statement/s is/are  98.
correct with reference to Indian Railways?
(1) -Achieving 100 percent
electrification by 2023.
(2) A net zero carbon emission network
by 2030. '
Select the correct answer using the code given
below —
Code -
(a) Only (1)
(b) Only (2)

" (¢)- Both (1) and (2)

(d) Neither (1) nor (2)
Who is the author of the book “Sanskriti Ke  99.
Char Adhyay”?

(a) Mabhavir Prasad Dwivedi

(b) Ramdhari Slngh Dinkar

TR Yo & gaw § F=fafea su=t 4

| P AT /A HUF_Fel 8 /87

(1) 2023 % Tg—yfaera faegiexer oed
TS 6T | '

(2) 2030 dH YA HEF Iodoid e |

%ﬁquzﬁrmmﬂ'@rww

TgT HIAY —

a-',c\z_

(@) @ (1)

®) dae () -

(© (3R (2) 3T

@ FarQ) ()

"ﬁﬁ?ﬁl?ﬁﬂﬁm gmmiﬁmum?ﬁﬁ

(a) AR gaE fgady
) I RiE ﬁ-rmo—\rl

(¢)  Maithili Sharan Gupt Efl)) HfrefeReT T
(d)  Jaishankar Prasad AP WIS
100. Which of the following is not correctly  100. rfaRaa # |-®9 el ?jﬁﬁ:ﬁ &l B
maiched? (G Ry @ feRe (W /89)
(Historical Melas/ [LI ccs!Re on , -
fairs of Uttar ilj)
Pradesh)
(a) Jal Vihar Mela - Bundelkhand | (@ v RER @ A — g
(b) Bateshwar - Western Region (b) 9T FHT HaT - qﬁm?ﬁ{,
Mela .
(c) Baldev Chhath - Purvanchal (¢) 2T BB TN Aol — qaiTe |
" Mela , ' T _ :
: (d) Shukratal Mela - ~Muzaffar Nagar @ i 3" o
101. Which of the following pair/s is/are correctly 101,  Fr=ifeiRad gjtrr H I A/ w
matched? E 74 7 SR
(1) Beet - Sugar (1) ,gh=x =
~(2) Honmey - Glucose and Fructose (2) TET - ‘T—Eﬁﬁ 3R e
(3) Cotton - Cellulose () U - ogeE
(4) Milk - Lactose 4 g™ - olee™
Select the correct answer using the code given W &Y Y THe &7 YA RS GEl IR Bl
below - , LU HIfoTg —
Code - _ He —
(a) Only (1), (2) and (3) (@) F (1), Q) T ()
(b)  Only (2), (3) and (4) (b) FIA (2), (3) TAT (4)
(¢) Only (1), (2) and (4) (© ad (1), (2) T (4)
S e PRy @, (), @, 3w @
[RRST-01-B]
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102. In the second half of 18" century, who was 102, 1841 IOl & SwRig A fhy UK “HUN
often called the local representative of “Aura EEESEE T3 ST RIHA &Tﬁfﬁﬁ
and Authority of Company Bahadur”? DET SITdr 2A17

(a) Kotwal (a) ?ﬁ‘m‘cna
(b) Daroga ~(b) TR
(c) Amala () 3™
(d) Landlord (Jammdar) (d) HeER
103. A farmer, which has land holding between 1 103, o Rew, forads wr 1 & 2 304X TF ST
“1o 2 hectare is known as - B, SIHT WaT & —
(a) Marginal Farmer (a) =T HuH
(b) Big Farmer (b) w31 FuH
(¢) Medium Farmer () =9 $us
(d) Small Farmer _ ' (d) oY TP

104. stei ::Se;ﬁ;\; rz:re t(\:; stz;t:la(rlnenl;fé OnSth:)rcllZc; 104. < | By f%q T ¥, t.’EE Eﬁ\f B (A) PET

Reason (R) - : W%aﬂv{a’\raﬁwm)
Assertion (A): Rabindranath Tagore AT (A): A SR A RS
renounced Knighthood. [urfey &7 = f=23r|
Reason (R): He wanted to participate BT (R): o IT9&dNT SAGIer § AT oAl
il\l:i the Non-cooperation T o |
ovement.
Choose the correct answer from the code : ﬁm TE A kT s O, i
given below - .
Code - & > )
(@) Both (A) and (R) are true and (R) is @ (A) 3R (R) THT W § 3R (R), (A)
the correct explanation of (A) P Hel AT HRAT B
(b) Both (A) and (R) are true and (R) is (®) (A) &R (R) I W& & WY (R), (A)
not the correct explanation of (A) B HE AR e '
(€) (A)is true but (R) is false © (A) W ? WY (R) e §
(d) (A)is false but (R) is true (@) (A) Tad @ R (R) & &
105. ‘Electricity” is related to ‘wire’ in the same 105. ‘g 9 yoR o) @ We’-@ﬁ 7, 9! WBR
way as ‘water” is related to- g Hefd 2—
(@) Jug (a) I
(b) River (b) =
() Bottle (¢) 9w
, " 1@) Fige @

106. "How many Mahajanapadas were located in, 106. g8 IR U2¥ § AR & Urd=ad Qe
present day of Uttar Pradesh among the oldest . HEIoTUg ¥ ¥ Eo fhae AeToHug fera o7
sixteen Mahajanapadas of India?

(@ 06 (a) 06
(b) 07 ) 07
(¢) 08 (c) 08
@ 09 @ - 09
[RRST-01-B] HO:. 632, Grbun_d Floor, Main Rage: D2 WfiBiZrjee Nagar, Delhi - 110009
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' 110.

107. Which of the following cities in India has the = 107. fr=ifeiRag wrdm 7RI & #Afew aRaat @
lowest percentage of slum population as per gfcerd 2011 B ST P IATER, mﬂ?f HY
2011 census? WwWE =
(a) Ahmedabad (a) IEEEEE
(b) Jaipur SR
() Lucknow , g:,)) Pty
(d) Bengaluru _ @ W
108. ‘Jhini Jhini Bini Chadariya,’ a famous Novel 108. &< W9y & @fdd Su=ard ‘#1141
of his times is written by - eRar @ J@d & —
(a) Kashi Nath Singh (@) el =y RiE
(b) NeerjaJadhav (b) HReT wEE
(c) Abdul Bismillah () drga e
(d) Ajay Mishra (d) oo s .
109. In 1993, which of the following language was 109, 1993 #, fr=ifiRaa # & @l wrar amadi
* not included in the Eighth Schedule?. Il | wfafea el @ T
" (a) Maithili ‘ (a) Wl
" (b) Santhali (b) Tl
() Bodo (¢) @er .
. (d) Dogri (d) Sr _
In aSitai' which type of sound vibrations are  110. Q@ Rar ﬁ fra EFFI? D1 e fﬂ'ﬁ’ BRI
produced? Bl 87 '
(a) Progressive and Longltudlnal (@) T qd 313’2?15
(b) Progressive and Transverse (b) WY T U
(¢) Stationary and Longitudinal (¢) 3 Ud. Jrgaed
. (d) Stationary-and Transverse (d) 3T Td IR
111.  Which of the following nutrient is most useful 111, PIET T WA, ¥ A B AET q@ny
" for enhancing oil content in mustard crop? I SRy 87
(a) Calcium (a) BfesrH
(b) Sulphur (b) o
(¢) Zinc - (c) oI
(d) Iron , (d) -oArE
112. Which of the following is not correctly 112, Ffafaa # & o &8 gifera :rg?r Y,
matched? )
Foreign _ Year/s of Tour ﬁ%ﬂ'ﬁ BIE] HRA 99T oy
Travellers to India (a) wIifga= —.399 9§ 414 §,
(a) sz-l-heq - 399-414 i]; _ " () = i — 629 % 645 &
Eh)) :II".E"'TS-ang ] 223”2:2 D, © sRET - - 679 %695 £
c -tsing » - -D. (d) . 3Te— : _
(d Al-Masudi = - 957AD. h Ml k.
113. “Shabri Sankalp Abhiyan” is associated with- 113, "¥&¥I Hheq A’ FT HeeT & —
' (a) To help those poor people whn are (@) 1 @rr T Y B N § S
' below the poverty line el DAl _
(b) Empowerment of Women (b) =Rl &1 Fufdaavor
(c) A scheme for self help groups (©) ¥ wergar Wl & forg Ao
(d): National Nutrition Mission @ s q‘rsmr Slﬁ'q'l"T
[RRST-01-B]
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114. Consider the following -
(1) Kalaripayattu
(2) Thang-Ta
(3) Mallakhamba
.(4) Gatka
Which of the above game/s has been included
in “Khelo India Youth Games™?
Select the correct answer using the code given
below - '
Code - .
(a) Only (1) and (2)
(b)  Only (2), (3) and (4)
() Only (1), (3) and (4)
(d) (1),(2),(3)and (4)

115. ‘Djibouti’ Code of Conduct is related to - - 115.
- (@) Conservation of Congo basin
(b) International Maritime grouping
) against piracy
(¢) Charter of ethics
(d) Principles- for conducting nuclear
116.  With :-Zsftefence to the Indian National 116.
Congress Session held at different places of
Uttar Pradesh, match list-I with list-II and
select the correct answer using the code given
bclt;w = _
List-I List-11.
(Place) (Year)
A.  Meerut 1. 1916
B.  Kanpur 2. 1905
C.  Lucknow 3. 1946
D. Banaras 4. 1925 '
Code :
A C D
@ . 1 4 3 2
b 3 1 2 4
(© 3 4 I 2
(d) 2 4 1
T HO: t:’)’), C

[RRST- 1-B]
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114. ﬁlﬁﬁ-rf@aw‘ﬁawmq_

(1
)

IR

(3) HoaEs

(4) IcdAET

SwWam ¥ A 5 ot @ Qe sfear gor
T A wfafer fvar 27 '

A R ge &1 Wi o e SR B TqT
BIfSTg — :
e
(@) g (1)3R (2)

(b) BT (2), (3) 3R 4)

(©  Had (1), (3) 3R (4)

d) (1), 2),3)3R @)

el smaR wiRdr wdaftd & —

(a) I IO BT EREWT

(b) R A D Rrvg IR THE
(¢) Hfdwer &1 WO UX

(d) TR e Hare Righ

TR wey @ = e F i g
U FHEH B AR B Tk F, G oy
AT H GARCT FIRTT T T Ry g e

T YA FID TE SR BT 7T By —
[C21) ()
A WOE . . .1916
B. MR 2. 1905
c. JETS 3. 1946
p. &R 4. 1925
e s
A B C D
(@ 1 4 3 2
® 3 172 4
© 3 4 1 2
@@ 2 3 4 1

g,




117.

Italy launched its first “Food Mega Park” in  117. S 2021 ¥ $&ell 3 ¥R # 3971 Ugen %=
India in June 2021 at which of the following 7 gt FrEfoled 4 9 -fFe wme | 1%
place? frar?
(a) Jaipur @ AR
(b) Fanidhar (b) URER
(¢) Ludhiana - © o
(d) Kochi ) I
118. Consider the following events and arrange 118, faferad gearRl ) far Fifvw sk s=
these in chronological order : R 2afkerd HifT :
I. Development of sugar industry by . R g R S @1 e
Indians : ; :
; NP —— 0. Ruer § v s e &1 Ry
II. Starting of first jute mill in Rishra ]
111 Produc%ion of :teel in India for the L. AR # el BT 9o N SeATR
first time : V. g % g DSt A o1 ave
IV. Starting of first textile mill in Bombay A T Y FE BT VAT BRD GE IR BT
Select the correct answer from the code given <7 BT :
below : He —
Cade- (a) I IL IV 3R
(a) LILIV and 111 (b) v, 11, I Gﬁq I
() IV,I,Mand T © LI IeRIV
§ Lo o Wi
' LI Ian :
119. A(rrzmge the following = seasons in 119. foe gl Bf W?ﬁ-q_ PASY B TR
Chronological order accounting to Hindu TR AR aRerd BIfT—
Calendar : L 1) RS
(i)  Autumn X (ii) e
(i)  Summer (iif) g
(i)  Spring : (v) ~auf
(v)  Rainy - A9 R TC T BT RN D TE TRy
Select the correct answer using the code given S
below - ' | (@) (i), (v), (i) 3 (@)
(@) (i), (iv), (iii) and (i) M) G, Gi), Gv) 3R G)
(b) (i), (ii), (iv) and (i) T © (v G, G) IR G
(©  (iv), (ii), (i) and (iii) @ @, @), Gi) 3R (i)
(d) (i), (iv), (i) and (iii) : Popssiicl (N
120.  As per the 2011 census, the correct ascending 120. 2011 \;;'1 Ul & IR, arﬂ-\zﬁﬁ STy
order of the following states in terms of g\? w@of A fre=foiea <ot & IR 7
Scheduled Tribes population is - -
(@) Arunachal P Ppradcsh, Meghalaya, (a) VT e, HeETer, TS,
Nagaland, Mizoram ' fArsRe
(b) Meghalaya, Arunachal Pradesh, (b) FETEE, IPUMAA YR, ArTRIvE
' Nagaland, Mizoram I SIRG . :
(6) Arunachal Pradesh, Nagaland, (c) oTOUITEel W, NS, Waren
Meghalaya, Mizoram o=
(d) Arunachal . Pradesh, Mizoram, (d) arouTEd yew, fRm Armevg
Nagaland, Meghalaya - ﬁEI'IFRI o
D HO-632-Gretne-FroorViaim R&%d@%%ukherjee Nagar, Delhi - 110009 )
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121.

122,

124.

125.

Which of the followmg is ‘not con‘ectly 121.

ﬁﬁ%@aﬁﬁaﬁﬂw%ﬂﬁ@ﬁﬁﬁ

matched? 7
Animal Breed ki T
(a) Buffalo - Bhadawari (@) ¥ L L ueEEd
(b) Cow - Sindhi (b) T R
() Goat - Jamunapari () T3 - AR
(d) Sheep -+ Tharparkar @ s - IRURGX .
Which of the following statement!s isfaretrue  122. TR m ”cf\> forg f=forReaa U H A DA
for Uttar Pradesh? A/ B ) /&
(1) is the largest hub of sugarcane (1) ¥Rg ¥ T SIS FT 999 91 &
production in India. )
) is tt.le largest milk producing state in (Zj RS T S g SIEE T2 |
Indig: S () YRd ¥ AEA BTG I SACD
3) is thc‘l'ughest producer of rice in 2 ;
India. Telegram/UppcsRoAro
(@ Only(1)is correct @ R (1)wer e
(b) (2) and (3) are correct (b) (2)3iRE)wE T
(¢©)  (1),(2) and (3) are correct ° © (1), 23R )= &

(d) Only (1) and (2) are correct
During the reign of which of the following
Sultan of Delhi, Hindu gods and goddesses
were worshiped in royal palaces?
“(a) Qutb-ud-din Mubarak Khilji

(b) Nasiruddin Mahmud

©

(d)

Nasiruddin Khusro Shah
Alauddin Masud Shah

Which of the following river does not flow
through the state of Uttar Pradesh’?

(a) Son River

(b) Hindon River -

(c) Gandak River

(d) Sharda River

The Disaster Management Act was passed by-

the Parliament of India in -

123,

124.

125.

@) R ()R ) ud &

FrefaRea % § Rech eoma @ 5 geam
@ ArEAET F I ARl o g gl
BT YoIT BIir o7

(a) gL gaRS Raarait

®) ?rﬁxvaqw _

(©) “HET G wE

(d) SCTSE WYY WE

frafafag § ¥ B o 76 SR u2w 9
X wfaa =8 el 27

(a) 99 T

(b) fRves w4

(€) 7vSH ol

(d) IRET AL

Waﬁwmmwmmﬁa
B3 —

(s}~ 2001 _(a) 2001 #
(b) 2005 (b) 2005 7
(¢) 2009 () 2009%
@ 2013 d) 2013 #
) HO:. 632 Ground Elodr Main Road-Di-Mukheree-Nagar—Delhi—110009
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126. Which one of the following book by former 126, aRdlang. @ @ TaR, A STa= @

RBI Governor, Bimal Jalan was published in
July, 20217

(a) The Future of India

(b) India’s Politics

(¢) Emerging India

(d) . The India Story

127. “When........ was bom, the earth sank two and  127.

a half hands.”
Above statement /Folk saying is related to
which historical personality of Uttar Pradesh?
(a) Vidhyadhar
(b) Mahil
(¢) Alha
(d) Paramardi

128. Who publishes Global Climate Risk Index 128.

Report?
(a) United Nations Environment
Programme

“(b) Germanwatch
(¢) World Meteorological Organisation
(d) World Bank '

129, _ Match list-I with list-II and select the correct 129.

answer using the code given below —

List-I List-IT
(Name of the Act in (Year)
India)
(A) Forest Conservation (1) 1980
Act y .

=

(B) The Environmental (2) 1986
Protection Act ’

(C) The Air (Prevention (3) 1981

: and Control of '

_ Pollution) Act
(D) The Water Pollution (4) 1974
Control Act
Code -
A B C D
@ 3 1 4 2
® 1 4 2 3
(c) 4 : 3 2 1
d 1 2 3 4

130. Which Government enterpri$es signed MOU  130.

in August 2021 to invest in Uttar Pradesh
Defence Corridor?
(a) Bharat Earth Movers Limited
(b) Bharat Dynamics Limited
* (c¢) Hindustan Copper Limited
- (d) Mishra Dhatu Nigam Limited

frefoRag ¥ @ & ¥ §W$ grs, 2021 3§

(a) $@ﬁwquh?wmﬂiﬁq

EEIG] -
(¢) fazg ¥rew fasm HTed
@ fwads

~1 B gA-I1 ¥ gafera S o A
%‘?w @@Twa‘m TR FEl STR BT T4

== 1
(araes ¥ s @ (@)
)
(A) 97 Exeor AfRfHEE (1) 1980
®). qgiqRoT- HReor (2) 1986

(C) @y (wguer fEmer (3) 1981

Tq fg=) srfefas
(D) wa uguur = @) 1974
arffam :
e —
A B C D
(@ 3 1 4 2
b) 1 4 2 3
() 4 3 2 1
@ 1 2 3 4 . -
SR Uy fenw BiRER ¥ Ay & @ fory

IR 2021 # fry We™ Sead F FHIAA
MU WR s f6g?

(a) WRT 3 qEd fafes
(b) TRT SEAfEERT fafies
© Rawm s s
@) fasr arg P frfies

[RRST-01-B] Pa
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131.  Which of the following is the largest Fresh 131, Fr=foRaa ¥ § a9 wra & Fl?ﬂéf TS A

Water Lake of India? - I B 3 87
(a) Kolleru (a) dw
(b) Wular (b) EER
(c) Nalsarovar _ (€) Tl |RER
(d) Sambhar : d) R :
132.  Which of the following schemes a:erelatedlo 132. =1 & @ o9 @ 9o aRe e 9
the skill development? . - e 87
(1) STRIDE ‘ 1) x=s
(2) STRIVE (2) ¥*g=a
(3) SANKALP Q) W
(4) SHREYAS : @ ATd
Select the correct answer using the code gwen R Ry g e ¥ A G SR BT WA
below - : N i L g
(@ (1) and (2) only . (@) I (1) &I (2)
(b) (3) and (4) only - (b) &g (3) TAT (@)

(© (2),(3) and (4) only 2 :
(c) -. dae (2), (3) T (4)
@  (1).(2), (3)and (4) only d) Faa (1), (2), (3) @)
133. The Monochmnx Theory was prOPOu“ded 133, AR (TPt W) o

by - far o —
(a) FE.Clements . - o (@) TS ToH
(b) C.C.Park (b) . urH
(c) D.V.Ager S () @ﬁ; IR
(d) S.J.Gould - : (@ TES. TS
134.  Armrange the following words according to  134.. 9. Ry Tu w=i B E’TG?';T;T @ AR ﬂﬁﬁﬂ'
: * dictionary, and find the word that comes on aﬁ‘ﬁm AT I TR PI-HA ?
just second place in dictionary? St EE@R’T H W RESCINIE
(@) Conclusion . " _(a) Conclusion
(b) Concentrate (b) Concentrate
(c) Confidence - (¢) Confidence . :
" (d) Count s (d) Counts e ik
135. With reference to the Fort William College 135. ®Yc -~ fafemm ferst ;/5""%2“” e ‘
Calcutta, which of the statement/s is/are ’cf?’lﬁrﬂT /A BT HA
correct? | @ ATYAT 10 I, 1800 5. Y e
1. It was founded on 10" June, ISUOAD & P1¢ Rfrm Bieea A g Al
within the Fort William Complex in 2. Eﬂ?.l'ﬁ Eo e G 2 G Lo wew fafew
Calcutta. ; afrpiRay B ’m'\’ﬂ’fﬂ ararait @ R
2. The main purpose of establishing this a1 o
college, was to teach Indian languages 4 ey TY T B u’ﬂ’m XD ﬂﬁ IR DT
to British officers. o AR —
“Select the correct answer usxng the code gwen EUEl ,
- R —
below : »
Code - _ . (@ %adl
(@ Onlyl (b) a‘v-cra 2
(b) Only?2 : © aﬂwa’rﬂ; ,
(© Bothlandz C(@ AWML
(d) Neith mmmd Eloor e
o o Ie-{ 632 #2765%@&9 %u&liﬁ' %Zl\/lggar Delhi - 110009
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Which of the following cities was declared

" 136. : : 136. Py § ¥ f5d WE B o 2021 ¥
~ winner in “Social Aspect Category” of the R o @ A @R 2020
India Smart Cities Awards 2020, which were “grfeTe Teel Sofr A fasier \ifta fear ma
declared in June 2021? Coq?
(a) Til‘upalsi (a) foroufy
Eb)) f",“’p“ (b)
C aipur
(d) Vafanasi © .
o » (d) R
~ 137. Headquarters of International Potato Centre 137. 3I<RIS:1 3Te] $7= (rams. l?r) W1 FEE
(CIP) is situated in - - feme -
(a) Lima, Peru (@) | S
(b) Shimla, India (b) fRrer, HRd
(¢) -Dakar, Senegal (c) ;'%’EQ., AT
(d) Dublin, Ireland (@) =afer, smaRes -
138. Which of the- following is not correctly 138. f=feafaa 4 J B |1 |qE Eﬁﬁlﬁﬁ%'?
matched? 2 N i
- (a) Mahila Safnridhi Yojana - 1993 (a) e e AT — 1993
(b) Women Self-Empowerment Plan - (b) _wfeen wafad drerr — 1998
1998 ‘
(¢ Women Empire Plan - 1989 () ifEe MrETSd ATl — 1989
(d) gglégonal Posahar Mission Plan - ‘(d)_ T TER e e — 2003
139. What is the ‘quorum’ required in the State 139. <o fAuFHST @ Job JRRIT B B g
-Legislature to hold a meeting? . BRA’ (TOTYRI) T 27 .
_(a) Thirty members or one tenth of total (2) O 9 A1 el qEwIT GaEsCIl
membership, whichever is less i
(b) One-half of the total membership of S B
the House (b) ST DI Fol Gl BT T
(¢) One-fourth of the total- membershjp (© Wod B B GG B UF Aerr
of the House - L ) )
(d) - Ten members or one tenth of the (d) <H 9 1 G AT BT Sl
“total members of the House, feem, <y of GT[‘EI‘(E '&"T
whichever is greater
140. In which of the’ fo]lowlng year, was the 140. ﬁ'ﬁr%rt@a ¥ ¥ g of R @) @
authority of the British established over the fral TR IS BT fER =nfg g7
fort of Prayagraj (U.P.)? : ‘
(a) 1790 A.D. (@) 1790%.
(b) 1792 AD. () 1792%. .
(¢) -1796 AD. (c) "1796%.
(@) 1797 AD: @ 1797%.
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